Transfers Report

This report contains the transfers results.

Contest Name	Ward 11 - Caol and Mallaig
Valid Votes	3,242
Positions to be Filled	3
Quota	811

Stage 1

Candidate Name	Affiliation		No. of Ballot Papers
Susan CARSTAIRS	Scottish Labour Party	•	181
Allan HENDERSON	Independent		917
Billy MACLACHLAN	Scottish National Party (SNP)		778
Denis RIXSON	Scottish Liberal Democrats		304
Liz SAGGERS	Scottish Conservative and Unionist		265
Liam SIMMONDS	Independent		30
Ben THOMPSON	Independent		767
		Total	3,242

Candidate Allan HENDERSON Elected with 917 votes, being in excess of the quota of 811

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Allan HENDERSON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Susan CARSTAIRS	55	0.11559	6.35745
Transfer to Allan HENDERSON	0	0.00000	0.00000
Transfer to Billy MACLACHLAN	133	0.11559	15.37347
Transfer to Denis RIXSON	179	0.11559	20.69061
Transfer to Liz SAGGERS	55	0.11559	6.35745
Transfer to Liam SIMMONDS	35	0.11559	4.04565
Transfer to Ben THOMPSON	367	0.11559	42.42153
Value of non-transferable ballot papers			10.75384
	Total		106.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Exclusion of Liam SIMMONDS

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Susan CARSTAIRS	2	1.00000	2.00000
Transfer to Allan HENDERSON	0	0.00000	0.00000
Transfer to Billy MACLACHLAN	3	1.00000	3.00000
Transfer to Billy MACLACHLAN	2	0.11559	0.23118
Transfer to Denis RIXSON	3	0.11559	0.34677
Transfer to Denis RIXSON	3	1.00000	3.00000
Transfer to Liz SAGGERS	4	1.00000	4.00000
Transfer to Liz SAGGERS	1	0.11559	0.11559
Transfer to Ben THOMPSON	26	0.11559	3.00534
Transfer to Ben THOMPSON	14	1.00000	14.00000
Value of non-transferable ballot papers			4.34677

Total

34.04565

Transfers Report

This report contains the transfers results.

Stage 4 - Surplus of Ben THOMPSON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Susan CARSTAIRS	42	0.00215	0.09030
Transfer to Susan CARSTAIRS	110	0.01866	2.05260
Transfer to Allan HENDERSON	0	0.00000	0.00000
Transfer to Billy MACLACHLAN	211	0.01866	3.93726
Transfer to Billy MACLACHLAN	73	0.00215	0.15695
Transfer to Denis RIXSON	91	0.00215	0.19565
Transfer to Denis RIXSON	150	0.01866	2.79900
Transfer to Liz SAGGERS	73	0.01866	1.36218
Transfer to Liz SAGGERS	38	0.00215	0.08170
Transfer to Liam SIMMONDS	0	0.00000	0.00000
Transfer to Ben THOMPSON	0	0.00000	0.00000
Value of non-transferable ballot papers			4.75123

Total

15.42687

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Susan CARSTAIRS

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Allan HENDERSON	0	0.00000	0.00000
Transfer to Billy MACLACHLAN	7	0.11559	0.80913
Transfer to Billy MACLACHLAN	6	0.00215	0.01290
Transfer to Billy MACLACHLAN	20	0.01866	0.37320
Transfer to Billy MACLACHLAN	37	1.00000	37.00000
Transfer to Denis RIXSON	68	1.00000	68.00000
Transfer to Denis RIXSON	35	0.01866	0.65310
Transfer to Denis RIXSON	7	0.00215	0.01505
Transfer to Denis RIXSON	25	0.11559	2.88975
Transfer to Liz SAGGERS	5	0.11559	0.57795
Transfer to Liz SAGGERS	2	0.00215	0.00430
Transfer to Liz SAGGERS	7	0.01866	0.13062
Transfer to Liz SAGGERS	13	1.00000	13.00000
Transfer to Liam SIMMONDS	0	0.00000	0.00000
Transfer to Ben THOMPSON	0	0.00000	0.00000
Value of non-transferable ballot papers			68.03435
N.D. The figures may get add due to reyading	Total		191.50035